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65,000,000 x 14! 65,000
401 A& HI L 20l 100,000 0 100,000
01 Al&H| 100,000 0 100,000
P BN YRALE B 100,000
DIEAS 22da 50,000,000 = 14! 50,000
> gt Al 50,000,000 x 1Al 50,000
2o WA BAFRL 29 27,785 0 27,785
101 Q121 H] 7,291 0 7,291




2N
X'IiH:
cHel:

s
H=swsE 4 X

HsneE MblA HeE(LE

SA - BB B () - MM - BES Ol &t o San HmEET
04 JIZHHZ2XREES 7,291 7,291
O29 A2 - DEHA SUEJI A AL 2 7,291
R = 69,4003 x121+104 7,218
DATHE & 7,217,600% x1/100 73
201 -4 20,494 20,494
01 At 22l 11,200 11,200
O1 eet=ZHl 4,000
>EUHASAEEL B2l S|
4,000,000& =14 4,000
o6 g1tz 7,200
DEUAHASUHEFEA PXUE
600,000& »12& 7,200
02 2324l 9,294 9,294
O1 22322 2 HA 6,654
DEUAHASTUHERTL S5
6,654,000 x 14! 6,654
O3 A& ZHl s Xl 2,640
DEUAHASAHEZ A ROIAHI (FHH]) 22l
220,000& »12& 2,640
HAXSIEHDE SIS A 66,200 66,200
< 33,100
Al 33,100
401 A& HIZ 201 Y] 15,000 15,000
< 7,500
Al 7,500
01 A& HI 15,000 15,000
O BXSIEHOE 3L ALY 15,000
DEUAANYLSZEFE 15,000, 000& 14! 15,000
< 7,500
Al 7,500
402 2I2H X201 M 51,200 51,200
< 25,600
Al 25,600
02 QIZEHEAILSEZ (01X ) 51,200 51,200
OCBXSIEHOE S3ME ALY 51,200
DEFIEBAHDE 51,200,000& =14 51,200
< 25,600
Al 25,600
OlHOHAHDIY At (=1) 1,538 1,538
=2 769
Al 769
405 XtaHE SHI 1,538 1,538
= 769
Al 769




2N HESLSH
M swE 4 N2

S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et ESFH S 1,538 0 1,538
OHOlE 28 29 EX&EUI(A2 - DEHAH
oe) 1,538,000& 14 1,538
= 769
Al 769
S NUE & B 1,016,473 979,473 37,000
201 ¢er24| 184,000 192,000 A 8,000
02 =224l 184,000 192,000 A 8,000
O3 A€ &Hl |XlH 184,000
DsZd SFEH 23,0003 8007 2= 103 184,000
401 AIEHIZL 2] 832,473 787,473 45,000
01 A& Hl 830,000 785,000 45,000
OdAas2d A4 & wil 610,000
DII2E HASZE WA
10,000,000 *55H 2~ 550,000
DRIHE HASZE WA
500,000 » 12004 2 60,000
OHA(HANSZE RANES 170,000
DPHASZE S+ 10,000,000& = 12& 120,000
DEIAl S2E LA ¥ RAES
50,000,000& =14l 50,000
OBA(SHANSSE Y &3
1,000,000 *500H 2~ 50,000
03 Al 2 THHI 2,473 2,473 0
OAl &= HHI 2,473,000 14! 2,473
HIIHAAIHE 29 8,950 0 8,950
201 et 550 0 550
01 At 22l 550 0 550
O1 eet=EHl 550
Do HEIH OME 55,000& 102! 550
301 Ler2a s 8,400 0 8,400
12 JIE2 43 8,400 0 8,400
Ol A &HH &3l 30,0003 x70Q! 43| 8,400
SSMY MHIA A K& 15,300 271,500 A 256,200
201 et 660 1,000 A 340
01 At 22l 660 1,000 A 340
O1 get=ZHl 660
PusS=2sLd 3 S22 M
55,0003 » 124 660
202 Odl 8,640 6,480 2,160

01 =LHOIHI 8,640 6,480 2,160




2N HESLSH
M swE 4 N2

S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAZE SR 2510 & MHIAME AtE BE
o4 bl 720,000& 123 8,640
301 et 8= 6,000 6,000 0
09 SALAHIEA S 6,000 6,000 0
OnESIstedd R H&4A AKX AS
6,000,000 » 14! 6,000
H4xt HAISSE ZAES 21,620 0 21,620
= 10,810
Al 10,810
207 &1 OH £l 21,620 0 21,620
= 10,810
Al 10,810
01 2289 21,620 0 21,620
OHMA4XE BHAIZSE ZAESE 21,620,000 * 14 21,620
= 10,810
Al 10,810
Al ZX 24 At 2,000 5,000 A 3,000
201 Let24E] 2,000 5,000 A 3,000
01 At 2t 2l 2,000 5,000 A 3,000
O3 2g8=¢ 2,000
DEAZRARE BHEY
100,000 »5021 x4 3] 2,000
EHE SAIMY XI& 610,299 654,398 A 44,099
< 53,360
Al 556,939
307 21201 A 610,299 654,398 A 44,099
< 53,360
Al 556,939
02 QB AAHEX 344,413 388,512 A 44,099
OEHEEHAI(FEZMI EXNESANKA 344,413
DEdzE XA 167,513,000& 14! 167,513
PotExr2 X 176,900, 000& 14 176,900
< 53,360
Al 123,540
03 BIAHMNHE2IHIEL 265,886 265,886 0
OEHCEEA SHH 228 X
265,886,000 x 14! 265,886
BIH (LX) &HAl 28 X2 100,000 0 100,000
301 et A3z 100,000 0 100,000
12 J|EtE 4= 100,000 0 100,000
OQUSEAL HIR2HM (LX) HAl K&
100,000, 000 * 14 100,000
2T SEUESE 2L XA (XHA) 27,220 22,150 5,070




2N HESLSH
M swE 4 N2

S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 27,220 22,150 5,070
01 At 22l 2,000 0 2,000
O3 2g=¢ 2,000
PREATOISHIAZHSAAS HAHLC
100,000& » 1021 x23| 2,000
02 2324l 25,220 22,150 3,070
O1 3322 € HMA 25,220
DIASIM(SE)
100,000 *23CH *13] *30/100 2,070
DASIUHEEZ(SE) 1,000,000& »23CH 23,000
DASK BAMNL 23 (S8
50,000 »3CH 150
2 SEusst 22N (BX) 1,576,527 1,282,758 293,769
= 395,155
Al 1,181,372
307 glz2+ol & 1,576,527 1,282,758 293,769
= 395,155
Al 1,181,372
05 RIZt2 &= 1,576,527 1,282,758 293,769
OSENE+THDEANZHA) 29
1,576,527,000& 14 1,576,527
= 395,155
Al 1,181,372
WESOHM oAl A (NSAMASLHIIA) 100,125 172,027 AT1,902
= 30,000
< 9,000
Al 61,125
gafe g NS 30,125 24,027 6,098
201 L2l 17,165 15,387 1,778
01 At 22l 11,912 10, 184 1,728
O1 Let==EH| 5,000
DAZEEXNYE NEHSE 2 WSt EE=
Xl = 3,000,000 » 14 3,000
DRHYX L SHASKH LHBel EE=S
Xl = 2,000,000& » 14! 2,000
O4 1=l 480
DASENSIH HE2R 480
Oot= 100, 000& 12! 100
os= 140,000& 12! 140
o ger= 70,000& x1¢! 70
O&FEF= 70,000& x 1@l 70
O tt3t 50,000& » 121 x23] 100
O5 =&l 4,032




Egma—gni}

s |4 A2

DEHH oAl LB (DSAYSHSIH) (B9 ®R)
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Ei HR=2
DEHRAALINS X NS S2A 24|
8,000 *x62! x7L x12& 4,032
O6 X2 2,400
D2cex s A0l 80,000& *303] 2,400
02 E2=2=2%H| 5,253 5,203 50
O1 222 ¢ A 1,260
DASA SHAMNLEESZ(SEH)
50,000& = 1CH *23] 100
> XS XA 400,000 = 1CH*13] 90/ 100 360
PRSI BEER(SE) 700,000 1 CH 700
DRSS BAEE=2(SE)
50,000& = 1CH *23] 100
O4 xHeFHer] 3,993
DAEEXNE NS KA
3,993,000 =1CH 3,993
202 044l 12,960 8,640 4,320
01 2L I 12,960 8,640 4,320
OgRAL X XNESH |
1,080,000& x12& 12,960
SN AY 2 10,000 16,000 A 6,000
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSH AFALS B X 10,000 10,000 0
QuUECHMOIAl NF AHolfal K&
10,000,000 = 1Al 10,000
XAZO0IEZDEX HEH BX(21) 60,000 132,000 AT72,000
= 30,000
& 9,000
Al 21,000
307 QI2t0| & 60,000 132,000 AT72,000
= 30,000
& 9,000
Al 21,000
02 Q2B AMAIE E =X 60,000 132,000 AT72,000
OMEE I 20" BDEX 2
60,000,000 x 1Al 60,000
= 30,000
= 9,000
Al 21,000
HMSHAH (H=nNEW) 182,112 141,981 40,131
CIHSAH| (NS AHEELZAH) 43,308 85,935 N4 627
ol 2oyl 43,308 85,935 N 42,627
101 Q121 H] 43,308 85,935 N42 627
03 RIAHL*ZZXHE 43,308 85,935 N4A2 627
OSISAMEA 43,308




2N
X ZH -
L= B

el

o g o

Egma=an/;
F2gZu(lsnsl)
A2HH (RLSMSSLEIA)

SA BB O () - NRAY - HES il
>olEs 1,800,000 121 x12& 21,600
D&z 21,600,000& x4/12 7,200
DHEZZ2SY 14,7133 121 x60 Al 2t 883
DAY 9,809 *BA| 2+ x121 10 785
D> & Mz AlH| 130,000& 121« 12& 1,560
>us2 L 120,000& 121+ 12& 1,440
> &0 10,000& #121%x102 «12& 1,200
> HE S| 1,800,000& 121%80/100 1,440
DIADHASRES 39,492,000& *4.5/100 1,778
DAABEE 39,492,000& x3.245/100 1,282
PEIRAEER 1,282,000& +7.38/100 95
DNEBEE 39,492,000&*1.5/100 593
DMTHEE S 39,492,0002 *1/100 395
> Il = 4l 480
Oot= 100, 000& 12! 100
os=s 140,000& 12! 140
O&EF= 70,000& x1¢! 70
O &3t 50,000& 12! 23] 100
o gst=s 70,000& x 1@l 70
DEIXNHASRES 2,577,000 14 2,577
|22 (DEALSES) 138,804 56,046
Jl23Hl 138,804 56,046
201 L2l 124,204 35,396
01 A2 2| 28,948 27,368
O1 Yersg| 22,804
>RSI S 13,804, 000& 14 13,804
DEAD Y ZElH &23
600, 000& *5CH 33| 9,000
O5 =&l 6,144
DOt 52 22X 8,000&x1621 43| x12& 6,144
02 =224l 95,256 8,028
O1 3322 2 HMA 95,256
>SIRH 2,130 *300= <128 7,668
PESSH 330&+300=+12& 1,188
PHALE BHE 222 RERS
5403 +160,000= 86,400
202 4 HI 11,000 11,000
01 = LH YI 11,000 11,000
OJI2ges=adul 9,000,000& » 14l 9,000
Ollsuns R=& 220l
2,000,000& » 14l 2,000
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n0

Kio

Hl w

H3r
Wikd
RIS

3,600
3,600

Off &t 24

3,600
3,600
3,600

dsusn

2N

K]
KF
ok
ol

128

2 *

=

300,000




